

Quiz #6 (CSE 400.001)

Tuesday, June 1, 2004

Name: _____ E-mail: _____

Dept: _____ ID No: _____

1. (10 points) Compute the Fourier transform of the following function:

$$f(x) = \begin{cases} x^2 & \text{if } 0 < x < 1 \\ 0 & \text{otherwise} \end{cases}$$

$$\hat{f}(\omega) = \frac{1}{\sqrt{2\pi}} \int_0^1 x^2 e^{-i\omega x} dx \quad (+2)$$

$$\int_0^1 x^2 e^{-i\omega x} dx$$

$$= \frac{1}{-i\omega} x^2 e^{-i\omega x} \Big|_0^1 + \frac{2}{i\omega} \int_0^1 x e^{-i\omega x} dx \quad (+2)$$

$$= \frac{i}{\omega} e^{-i\omega} + \frac{2}{i\omega} \left\{ \frac{1}{-i\omega} x e^{-i\omega x} \Big|_0^1 + \frac{1}{i\omega} \int_0^1 e^{-i\omega x} dx \right\} \quad (+2)$$

$$= \frac{i}{\omega} e^{-i\omega} + \frac{2}{\omega^2} e^{-i\omega} - \frac{2}{\omega^2} \left[\frac{1}{-i\omega} e^{-i\omega x} \right]_0^1 \quad (+2)$$

$$= \frac{i}{\omega} e^{-i\omega} + \frac{2}{\omega^2} e^{-i\omega} + \frac{-2i}{\omega^3} (e^{-i\omega} - 1) \quad (+2)$$

$$\therefore \hat{f}(\omega) = \frac{1}{\sqrt{2\pi}} \left\{ \left(\frac{i}{\omega} + \frac{2}{\omega^2} - \frac{2i}{\omega^3} \right) e^{-i\omega} + \frac{2i}{\omega^3} \right\}$$

(+2)

2. (20 points)

(a) (8 points) Compute the Fourier series of $f(x+2\pi) = f(x) = x^2$ ($-\pi < x < \pi$).

(b) (6 points) Show that $1 - \frac{1}{4} + \frac{1}{9} - \frac{1}{16} + \frac{1}{25} - \dots = \frac{\pi^2}{12}$.

(c) (6 points) Show that $1 + \frac{1}{4} + \frac{1}{9} + \frac{1}{16} + \frac{1}{25} + \dots = \frac{\pi^2}{6}$.

$$(a) a_0 = \frac{1}{\pi} \int_0^{\pi} x^2 dx = \frac{\pi^2}{3} \quad (+2)$$

$$\begin{aligned} a_n &= \frac{2}{\pi} \int_0^{\pi} x^2 \cos nx dx \\ &= \frac{2}{\pi} \left\{ \frac{1}{n} x^2 \sin nx \Big|_0^{\pi} - \frac{2}{n} \int_0^{\pi} x \sin nx dx \right\} \quad (+2) \\ &= -\frac{4}{n\pi} \left\{ -\frac{1}{n} x \cos nx \Big|_0^{\pi} + \frac{1}{n} \int_0^{\pi} \cos nx dx \right\} \\ &= \frac{4}{n^2} (-1)^n - \frac{4}{n^2\pi} \left[\frac{1}{n} \sin nx \Big|_0^{\pi} \right] \quad (+2) \\ &= \frac{4}{n^2} (-1)^n \end{aligned}$$

$$x^2 = \frac{\pi^2}{3} - 4 \cos 2x + \cos 2x - \frac{4}{9} \cos 3x + \frac{1}{4} \cos 4x - \dots \quad (+2)$$

(b) Let $x=0$; (+3)

$$0 = \frac{\pi^2}{3} - 4 + 1 - \frac{4}{9} + \frac{1}{4} - \dots \quad (+1)$$

$$\frac{\pi^2}{12} = 1 - \frac{1}{4} + \frac{1}{9} - \frac{1}{16} + \frac{1}{25} - \dots \quad (+2)$$

(c) Let $x=\pi$; (+3)

$$\pi^2 = \frac{\pi^2}{3} + 4 + 1 + \frac{4}{9} + \frac{1}{4} + \dots \quad (+1)$$

$$\frac{\pi^2}{6} = 1 + \frac{1}{4} + \frac{1}{9} + \frac{1}{16} + \frac{1}{25} + \dots \quad (+2)$$